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NEFHE HEERFEE ITIHE IERHE SIEIHE XEEHE IEFHE XEEREE
KFHEE 4,190 4,190M 5,230 5,230 5,230 5,230 13,180M 13,180
FEHEE 2,090 2,500 2,720 3,260 2,720 3,260 6,770M 8,120
BHHEZES50 2,090 2,500 2,720 3,260M 2,720M 3,260 6,770M 8,120M
BHHEZ=E30 1,670M 2,000 2,090 2,500/ 2,090 2,500/ 5,260 6,310
INGHEZE INFHE R 2, /INTHE RS /NTHE =4 1,040 1,240 1,360 1,630 1,360M 1,630 3,380MH 4,050
METHEE1, FIEPHEE2 1,040 1,240 1,360 1,630 1,360 1,630 3,380 4,050
oF VG DZ PN 2,090 2,090 2,720 2,720 2,720M 2,720M 6,770M 6,770
BRERIIDAIM  BREREZOFIN2 1,040 1,040M 1,360M 1,360M 1,360M 1,360 3,380 3,380
YAV Lb—Ls 2,610M 3,130 3,660 4,390 3,660 4,390 8,930 10,7109
5T E 2,090 2,500 2,720 3,260M 2,720M 3,260 6,770M 8,120M




